AL max et 3

1
e%aﬁéﬁé&@Eﬁab,%<t<1}:LS(t)=/ lze™® —tz|dx £B<L, St)idt=A
0

DEER/MEMBLAET 5,

1OgA:_\/:l

M (l 4] l}l |+ ;z
5%, |

U=PN

fx e*d1 = -Ae™ +/€”‘p(;¢ tC

S (et

- who
Aet_tA = o ({‘i_.,t’) el prege A7 (‘757(;71 /[(7

~log% \ s
) = 67 ol
. S®H Eo (\xe",tx)u()w J_(MUA

|

~logt b g e_,\]
= A Lg% — 4 (1) ey
[ NI i ) Mg .

:'{Uaﬁt'-nic ~ Lt (lmt) 4] }»r{a;—m =

~ s rllg by - §I~‘°%">Ik<}")
Sty = —# (og ) 2kl 3+ 2 1
SO ~(g2) 420052 -4 +2 (094 tat 5k - £
= —(logﬁ)b‘z@i + Dbt + 2‘13' T
YW+ —(ley e & b gk A2 (Lot ooz

e A G aaE ke B

3 2
= - éA-ffEA;?mgﬂ

1l

oA TA+ _@% i) 1 % http://www.mathtext.info/

(f

“A(2+/2) + \+—z

*‘*-H—»‘@



